
S4(4).2 (mod 2)

blocks defect matrix

G : 1 9 28× 9
2 1 2× 1

Block 1: ϕ1,0 ϕ2+ ϕ4+ ϕ6,0 ϕ7,0 ϕ8+ ϕ10+ ϕ12+ ϕ14+

11 = χ1,0 1 . . . . . . . .
12 = χ1,1 1 . . . . . . . .
181 = χ2,0 2 1 1 . . . . . .
182 = χ2,1 2 1 1 . . . . . .
341 = χ3,0 2 1 1 . 1 . . . .
342 = χ3,1 2 1 1 . 1 . . . .
343 = χ4,0 2 1 1 1 . . . . .
344 = χ4,1 2 1 1 1 . . . . .
501 = χ5,0 2 1 1 1 1 . . . .
502 = χ5,1 2 1 1 1 1 . . . .
1021 = χ6+ 6 1 3 . 2 . 1 . .
1022 = χ8+ 6 3 1 2 . 1 . . .
851 = χ10,0 5 1 3 . 1 . 1 . .
852 = χ10,1 5 1 3 . 1 . 1 . .
853 = χ11,0 5 3 1 1 . 1 . . .
854 = χ11,1 5 3 1 1 . 1 . . .

1531 = χ12,0 9 3 3 1 1 1 1 . .
1532 = χ12,1 9 3 3 1 1 1 1 . .
4081 = χ13+ 16 7 6 2 2 2 1 1 .
4082 = χ15+ 16 6 7 2 2 1 2 . 1
4501 = χ17+ 18 6 8 2 2 1 3 . 1
4502 = χ19+ 18 8 6 2 2 3 1 1 .
5101 = χ21+ 22 8 9 2 2 2 3 . 1
5102 = χ23+ 22 9 8 2 2 3 2 1 .
3401 = χ26,0 12 5 4 1 1 2 1 1 .
3402 = χ26,1 12 5 4 1 1 2 1 1 .
3403 = χ27,0 12 4 5 1 1 1 2 . 1
3404 = χ27,1 12 4 5 1 1 1 2 . 1

ϕ1,0 = 11
ϕ2+ = 81
ϕ4+ = 82
ϕ6,0 = 161
ϕ7,0 = 162

ϕ8+ = 321
ϕ10+ = 322
ϕ12+ = 1281
ϕ14+ = 1282



Block 2: ϕ16,0

2561 = χ25,0 1
2562 = χ25,1 1

ϕ16,0 = 2561


